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Match #48


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
In economics, it is how much a firm’s capital stock declines over a time period. In taxation, it can be used for a tax deduction if a bought item lasts more than a year, and decays in value over the course of its lifetime, as with a car or a computer. What term in accounting is the writing off of an asset’s value over the course of its lifetime? 

ANSWER: depreciation
2.
Its ‘trifle’ and ‘lay’ grades used to contain lead, but now include antimony and/or bismuth.  It is malleable and looks like silver.  Its melting point is around 225 to 240 degrees Celsius.  Once used for plates, spoons, and cups, it is now mainly used in decorative objects.  Name this metal alloy that contains some copper and a lot of tin.

ANSWER: pewter
3.
He was one of three people tied for a seat on the Colonial Soil and Water Conservation District Board, not long after being excluded from another election.  A recipient of the key to Columbia, South Carolina, he created the Merriam-Webster 2006 Word of the Year, truthiness. What comedian and television show host recently made an aborted bid to run for President in only South Carolina?

ANSWER: Stephen Colbert 

4.
It started with The Cave of Time and ended with Mayday! Edward Packard, who wrote the Adventures of You series, and R.A. Montgomery wrote many of its books. Later books typically featured fewer endings. In what series, where the reader determines the characters’ fate, does a typical passage read: ‘If you decide to wait, turn to page 5’? 

ANSWER: Choose Your Own Adventure
5.
The first day of this battle, the Hornet’s Nest prevented total Confederate victory. Don Carlos Buell’s arrival on the second day ensured a Union victory. The Confederates lost Albert Sidney Johnston, and Ulysses S. Grant’s reputation improved. What battle was fought on April 6 and 7, 1862, and ensured Union control of West Tennessee? 

ANSWER: Battle of Shiloh
6.
Before this novel began, Buck was sailing with his brother on Lake Michigan, but died in a sudden storm. Buck’s brother, Conrad, attempts suicide. While Conrad’s dad, Calvin, copes, his mother, Beth, cannot. What novel by Judith Guest is about the Jarrett family’s breakup and was made into a movie that won 1980’s Best Picture Oscar? 

ANSWER: Ordinary People
7.
He was accused of providing the Germans designs for the Baquet (bah-KAY) 120-millimeter howitzer; he was sentenced to life on Devil’s Island in 1894. After the efforts of Emile Zola and other intellectuals, he was exonerated in 1905. What Jewish army officer was a symbol of anti-Semitism in 19th century France? 

ANSWER: Alfred Dreyfus
8.
It was the follow-up single to “The Celtic Soul Brothers” on the album “Too-Rye-Ay.” Its most familiar cover version was by Save Ferris. It opens with a few seconds of fiddle playing and contains some references to 1950s singer Johnny Ray in the first verse. Singer Kevin Rowland confesses that “my thoughts, verge on dirty” when he sees “you in that dress” in what only US hit by Dexy’s Midnight Runners?

ANSWER: “Come on Eileen”

9.
It was devised in 1935 by the Austrian physicist who won the 1933 Nobel Prize in Physics.  It demonstrates the quantum superposition of states in a macroscopic system.  Name this thought experiment involving a radioactive isotope, poison gas, and the simultaneously dead and alive title feline.

ANSWER: Schrodinger’s cat
10.
THIS IS A COMPUTATION QUESTION. Convert 7/8 into a decimal, given that 1/8 is equal to 0.125.

ANSWER: 0.875
11.
He did not return the love of Ameinias (ah-may-nee-as), who then killed himself from a broken heart. The nymph Echo loved him, but he did not return her love. Another old story says he had a twin sister who looked just like him; when she died, he looked at his reflection in the water to remind him of her. Who eventually turned into a flower after looking too long at his own reflection?

ANSWER: Narcissus
12.
These contain forward declarations of subroutines, variables and other identifiers used in multiple subroutines. They are given their name because they are the first thing loaded by a complier; in C and C++ (c plus plus) they are accessed by the ‘include’ statement. Name this type of file used in computer programming with a dot H extension.

ANSWER: Header file
13.
He overthrew his predecessor Wittiza, but was opposed by Achila. His widow, Egilo, married an Arab governor after he died at the battle of Guadalete. The Chronicle of 754 says Muslim invasions occurred throughout his reign; he died while fighting the Moors. What last king of Visigothic Spain died around 712? 

ANSWER: Rodrigo or Roderic
14.
Two mayors from this state were arrested by the FBI in a corruption sting in September 2007.  When Bob Torricelli had to withdrawal from its 2002 U.S. Senate election, Frank Lautenberg was coaxed out of retirement. In 2004, its governor, Jim McGreevey, resigned after acknowledging his homosexuality. Home to Rutgers University and Atlantic City, this is what state, known as the Garden State?

ANSWER: New Jersey
15.
Her daughter Chrysothemis (krih-soh-THEE-mis) did not enact the violent revenge her other two children, Orestes and Electra, sought on her. Human sacrifice for favorable winds took her fourth child, Iphigenia. She had an affair with Aegisthus (ay-ghees-thus) when her husband was away fighting the Trojan War. What killer of Cassandra also killed her husband, Agamemnon?

ANSWER: Clytemnestra
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Also known as Alpha Carinae (kay-rih-NEYE), what is the second-brightest star in the nighttime sky? 


ANSWER: Canopus

1B.
What lone American cycling team, who sponsored two of the last three Tour de France champions, announced following the Tour that it was disbanding?

ANSWER: Team Discovery Channel
2A.
A functional lighthouse between 1886 and 1902, what object was renovated between 1983 and 1985 and is now on the back of the dollar coin?

ANSWER: Statue of Liberty
2B.
THIS IS A COMPUTATION QUESTION. What is the probability of rolling a 6 on a fair pair of dice?

ANSWER: 5/36
3A.
Who created the characters of Pear Blossom, O-Lan, and Wang Lung in her masterpiece, The Good Earth? 

ANSWER: Pearl Buck
3B.
The Anglo-American Convention of 1818 established what parallel as the border between the United States and Canada?

ANSWER: 49th parallel
4A.
THIS IS A COMPUTATION QUESTION. What is the value of 7 cubed?

ANSWER: 343
4B.
For an imperative verb, what word is usually the “understood,” if not actually said, subject?

ANSWER: you
5A.
What science fiction series on UPN focused on Captain Jonathan Archer, commander of the first ship capable of going Warp Five?

ANSWER: Star Trek: Enterprise (DO NOT accept or prompt on “Star Trek”)

5B.
What ‘branches’ of a neuron are located adjacent to the cell body and receive electrical signals from adjacent axons? 


ANSWER: dendrite(s)

6A.
In terms of angular description, what type of triangle is a triangle of side lengths 6, 8, and 12?

ANSWER: obtuse triangle

6B.
What sub-race of humans served as food for the Morlocks in H.G. Wells’ The Time Machine? 

ANSWER: Eloi
7A.
For the Latin adjective bonus (boh-nus), which means good, what is the superlative form, a word that has itself become another English word?

ANSWER: optimus (accept optimum or optima) 

7B.
What element is between silicon and sulfur on the periodic table?

ANSWER: phosphorus
8A.
What isotope of carbon is used in radiocarbon dating?

ANSWER: carbon-14
8B.
The conductor of the Boston Pops Orchestra between 1980 and 1993, who wrote the scores to Raiders of the Lost Ark and the Star Wars series? 


ANSWER: John Williams
9A.
Monowitz, a work camp, and Birkenau, an extermination camp, were attached to what facility at which over 1.1 million people were killed? 

ANSWER: Auschwitz
9B.
S.R. Ranganathan (ran-gah-NAH-than) is considered the founder of what area of study whose first law is, ‘Books are for use’? 

ANSWER: library and information science
10A.
William Booth was the first ‘General’ of what religious organization? 

ANSWER: The Salvation Army
10B.
How many faces does an icosahedron have?

ANSWER: twenty
Third period, 15 toss-ups, 10 points each

1.
This word is a direct translation of the Mandarin words xi-nao (shee now), and it was first used in English during the Korean War to refer to how the Chinese treated prisoners of war. Studies show that people with rigid belief systems may be more prone to it, replacing earlier indoctrination with new indoctrination. What name is given to a method used to indoctrinate people in an effort to change their basic worldview? 

ANSWER: brainwashing

2.
Its chemical formula is C18H19N3O3S and its generic name is rosiglitazone (roh-ZIH-glih-tah-zohn).  Besides its main use, it may be able to treat some Alzheimer’s sufferers.  It has triggered a health warning as a study by Steven Nissen and Kathy Wolski found that it apparently leads to an increased risk of heart attack.  Name this GlaxoSmithKline product used to treat diabetes.    
ANSWER: Avandia
3.
The most recognizable music of this work is the seventh section’s variations on the Shaker tune “Simple Gifts.” The title is a bit misleading, as it is set in Pennsylvania and not the mountains of West Virginia. It was originally called Ballet for Martha. The Bride, her farmer husband, and a revivalist preacher are the characters in what work by Aaron Copland? 

ANSWER: Appalachian Spring
4.
Before the Second Settlement, he was given the title of princeps, or First Citizen. He came to power by forcing Lepidus into exile and defeating Marc Antony at the Battle of Actium. When he died in 14 AD, the Senate bestowed godhood on him and renamed the month of Sextilis for him. Who was this first Roman Emperor? 

ANSWER: Augustus (Caesar) or Octavian Caesar (technically, it’s Gaius Julius Caesar Octavianus)

5.
This word originates from a Greek word meaning ‘public notice put in writing.’ It can refer to a set of steps to achieve a goal, especially when done by the government, or as part of a recovery. It refers to a booklet containing information about an upcoming entertainment, especially a sporting event or play. What word also refers to a sequence of instructions given to a computer, or what is on the radio or television at some moment?

ANSWER: program(s)

6.
In 2006, a Rhode Island jury ruled that retailers who sold it before 1978 would be partially responsible for the costs of eliminating it from that state’s homes. It was once used as the under-layer for art work. Due to its ability to dry quickly and retain color, it is still used to form lines on asphalt. It is rarely eaten by kids, but is inhaled as dust as it breaks off the walls of older homes. What substance uses a toxic metal for coloring? 


ANSWER: lead paint (prompt on ‘paint’)

7.
By the end of this novel, the protagonist has asked Sally Athelny to marry him. The one-sided attraction Miss Wilkinson and Miss Price have to the protagonist is reflected in the one-sided attraction the protagonist has to the waitress Mildred. The clubfooted Philip Carey grows up in what novel by W. Somerset Maugham?

ANSWER: Of Human Bondage
8.
During the 1890’s, this artist of Portrait of Hans Jaeger and The Dance of Life worked on a series called the Frieze of Life. Works such as Ashes, Women in Three Stages, Death in the Sickroom, and a Madonna notable for also being a nude were part of his series. What Norwegian artist also painted The Scream? 

ANSWER: Edvard Munch
9.
Belonging to the family Formicidae, there are more than 12,000 species of them.  The study of them is called myrmecology.  They are insects with elbowed antennae, a metapleural gland, and a wingless worker caste.  Name this colony-forming insect whose best-known types include velvet, black, red, carpenter, fire, and army.

ANSWER: ant
10.
Built in 1996, it is named for a Marine Sergeant who was killed in action on Iwo Jima. In 2006, its former commander Kirk Lippold was denied a promotion to Captain; more significantly, it deployed to the Mideast for the first time in six years. What destroyer was victim of a suicide boat attack in the port of Aden on October 12, 2000? 

ANSWER: USS Cole
11.
Often represented by an upside-down uppercase delta, its components are the partial derivatives of the function to which it is applied.  Name this vector field which points in the direction of greatest rate of increase of a scalar field and whose magnitude is the greatest rate of change.

ANSWER: gradient
12.
The letters in this novel describe the failed marriage of Harpo and Sofia, the interracial marriage of Samuel and Nettie, the sexual abuse by Alphonso, the marriage of Shug and Grady, and the ultimate empowerment of Celie. Celie reconciles with her nameless husband in what chromatic novel by Alice Walker? 

ANSWER: The Color Purple
13.
Tertius wrote this Bible book, taking dictation from its author. In Chapter 7, the author argues that the law has dominion over us, but that through Christ’s sacrifice, we are now dead to the law. In Chapter 10, he states that if you confess that ‘Jesus is Lord,’ you will be saved. ‘The wages of sin are death’ is a quote from what Bible book, a letter written by Paul to Christians in what was then the world’s largest city? 

ANSWER: Paul’s Epistle to the Romans
14.
In the 1890s, he studied black body radiation, and offered a compromise law between the Rayleigh-Jeans and Wien (veen) laws. He thought wave mechanics would make his ideas obsolete. He has a current, power, temperature, length, time, and constant named for him. What German physicist determined wave energy contained small packets of energy, thus founding quantum theory? 

ANSWER: Max Planck
15.
John Smith called this island and its small neighbors the Russel Islands. It can be reached by ferry from Reedville, Virginia, and Onancock, Virginia, and is part of Accomack County. Its 600 residents speak an English dialect that closely resembles Elizabethan English. What is this island in the Chesapeake Bay? 

ANSWER: Tangier Island

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He describes laborers putting on a play about Pyramus and Thisbe as ‘rude mechanicals.’ He spreads the juice of ‘love-in-idleness’ on the eyes of Lysander and Demetrius. He turns Nick Bottom’s head into that of a donkey. What servant to Oberon, king of the fairies, delivers the soliloquy at the end of A Midsummer Night’s Dream? 

ANSWER: Puck or Robin Goodfellow
2.
The first African-American invited to the White House, he was also the first African-American on a U.S. stamp. He was President of Tuskegee University between 1881 and his death in 1915. W.E.B. DuBois (doo-boyz) called this author of Up From Slavery the ‘Great Accommodator.’ In 1895, who suggested the Atlanta Compromise? 

ANSWER: Booker T. Washington
3.
A film trilogy featuring Christopher Lloyd predicted that this company would begin producing hoverboards in 2015. In the early 1980s, it made the Intellivision video game consoles. It makes Hot Wheels and Matchbox cars, the card game UNO, and had to recall a series of toys manufactured in China because of concerns over safety. What company is still making lots of money off of Barbie? 

ANSWER: Mattel
4.
Its three branches are right, left anterior, and left posterior.  Named after a Swiss cardiologist, they give rise to Purkinje fibers.  Its blocking gives need to an artificial pacemaker.  It transmits electrical impulses from the AV node to the fascicular branches. Name this group of heart muscle cells whose name is not a grammatical error. 

ANSWER: bundle of His
5.
THIS IS A COMPUTATION QUESTION. What is i to the 95th power, recalling that i to the n equals 1 if n is divisible by 4, equals i if the remainder when divided by 4 is 1, equals –1 if the remainder is 2, and equals –i if the remainder is 3?

ANSWER: -i
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